& (2000) A OHEEHI 24:(2400) FEARL XIS ALSI DR & (2420) =& 2tel NIgH: (2425)FHALI S S A MIAE: (120) B & F [FEHALESSES AR EHA]

i = dod = | oy i}
o & % & = p ES
.28 AIE ML = of & % = oA
2000
INEBIETTE 2,670,000 3,050,000 380,000
2400
Z e QI X AFSIOH 2 ) 2,670,000 3,050,000 380,000
2420
TNz 2,670,000 3,050,000 380,000
2425
ZE A SE 5| 2,670,000 3,050,000 380,000
100
=PI, 99,610 145,910 146,300
120
= PRl 99,610 145,910 246,300
201
B2 | 96,490 142,790 246,300
96,490 142,790 A46,300(01 LBH2 |
o1 et 2H|
- o= EHel SII44E
80,0002 x50 All CH - 4,000
- FPFUSNE M RSAZ0UIE
1,000,000 x8024 = 80,000




T (2000)ALBI NI 2 (2400) FEALTIGALSI NG B (2420) FEA 22 KIB: (2425) FEAAISEBIH  AIAIE: (120) B A 2| [FEARIS S5 (29 &)
o = ST = R e im]
O & = &k = | =
.2 g M Mg =2 of & M = oA

1,000&x20021x32 = 600
- sz IlAM |2 120&x3,00000x 128 = 4,320
- SAsSdELXA RO 120 x500%x42] = 240

- EHME (M) 250,000& x1CHx3= = 750
- EUILEZIX 240,000&x10ix32l = 720

3. 2= ZHAl

- SA3A+0IM 82 SE=

190& x1,5000Hx 122 = 3,420
- SIHES 2 (228 1,500MICH) 1,000,000& = 1,000

=9. A2 EHIRXIHl

- 8AS2XAM R0 HAS/W = X2+t
120,000& x12& = 1,440




& (2000) A OHEEHI 24:(2400) FEARL XIS ALSI DR & (2420) =& 2tel NIgH: (2425)FHALI S S A MIAE: (120) B & F [FEHALESSES AR EHA]

2 = S im)
of oF o AF = 9l =
B ME NN = o & M = oA
202
018l 3,120 3,120 0
3,120 3,120 0|01 2uoibl
CIUFHUENS LA 0|
40,0002 x2 & x4 x63| = 1,920
o0 ANWUS 40t
10,0002 x2&Ex52 x 125 = 1,200
300
TP ot gt 1,648,291 2,682,082| ~1,033,791
310
PNEIDURS 1,648,291 2,682,082|  ~1,033,791
311
XY 30l X 88,719 537,688 448,969
88,719 537,688 448,969 |06 JIEFXI 244 80I X}
oRVUFHUENS Y3 0IX4E
- 85201 =4 (95MITH) 2,516,7002 = 2,517
— 85701 34 (390K CH) 12,900,6008 = 12,901




2 (2000) ABIREH) 2 RGABIN & : (2420) FEht2 RIgH: (2425) FHAIRISEBIH  KIMIE: (310) X [ Are] Sl k)
o o o d o= | il N )
28 HE NN = L - A
- 867301 &4 (285MICH) 24,119,4008 24,120
- 867301 &4 (462AITH) 44,590, 4202 44,591
oG FE Ol Xt &
- 854 (1) 9,5008 10
- 874 (78) 579,440 580
SRDIFE QIR0 KAt E 4,000,000 4,000
601
HU3e3 1,659,672 2,144,394  A584,822
1,559,572 2,144,304  A584,822(06 JIEIR YIS SAE
cIUFEUSNZ A3
~ 85=201 321 (95K TH) 98,245, 4402 98,246
- 85701 = &4 (390 M| CH) 452,590, 7208 452,591
- 86721 &4 (285AICH) 324,500,5908 324,501




ZH: (2000)AtSIOHERH]  2t:(2400) =S XIHALSI DN &F:(2420) =422 AISt: (2425) FEHALS SERIA MIAIE: (310) XI 2R & & [FEHALESSES AR EHA]

==

ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
- 86=01Z=EH (462MICH) 524 ,621,430& = 524,622
oXdllEe SN2 A
- 85 (13) 189,540& = 190
- g7d(7E) 5,421,970& = 5,422
CROIZESTZ UAIE AS
1,200,000 x95 Al CH = 114,000
o2 0IFEARZ A& 40,000,000& = 40,000
400
HlBlHl S 922,099 222,008 700,091
410
ol 818l 922,099 222,008 700,091
801
ol BIYl 922,099 222,008 700,091 | = 651 Yl 922,099,0008 = 922,099
M = & A 2,670,000 3,050,000 A380,000

_5_




